UNIT 1: HUMAN OPTION: HEALTH ISSUES Part 2
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1. What are the links between food and health-the issues of malnutrition, famine and obesity?

2. What are the contrasting approaches to healthcare? 

3. What are the issues of health in a globalising world-the rise of the pharmaceutical and tobacco TNC’s.
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What are the links between food and health-the issues of malnutrition, famine and obesity?

What is malnutrition?

Malnutrition is defined as a condition resulting from some form of dietary deficiency.  It literally means bad nourishment.  The definition includes not enough food, too much food or the wrong types of food.  Malnutrition can be measured by calorie intake or whether or not certain nutrients are absent from a diet.  Malnutrition weakens immunity and makes people more susceptible to diseases.  It can also cause deficiency diseases such as beri-beri, anaemia and kwasikor Malnutrition can lead to premature death.  It is estimated that malnourishment plays a major role in the deaths of half the under 5’s every year.

The Food and Agriculture Organisation (FAO) estimates that there are 792 million people that are chronically hungry in the world.  This means that they lack between 100-400 kcal a day.  It does not mean that are dying but they are more disease prone, as child development and growth is restricted, people are more listless and unable to work to their full potential.  Mother’s may give birth to underweight babies. 
It is estimated that 30 million people die from malnutrition every year.  This is despite that fact that the FAO claim there is enough food for everybody in the world to have 2700 kcals a day. 

The global pattern of malnutrition is not uniform.  The FAO calculate that 1/3 of the world’s population is malnourished. However, 70% of protein malnourished children live in Asia, 26% in Africa and 4% in Latin America and the Caribbean. 

The depth of hunger is greatest in Africa where 46% of the population have a daily deficit of 300kcals a day whereas in Asia it is 16%. 

What are the causes of malnutrition and famine?

Famine is caused by  a combination of natural and human factors and mismanagement. It can be caused by a number of factors:
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Famine can be localised and only affect one group or social class within an area or country.  In a country suffering famine it would not be uncommon to see food available to buy, food being exported or in fact people who are obese!!  However, famine is rooted in poverty and those who are hungry lack bargaining power, have a low status and few, if any, rights to land. 

Case study: Famine in Madhya Pradesh India 2008
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Madyha Pradesh is in central India and is often referred to as the heart of India. In 2008 60% of the 10 million children who live in this region are malnourished.  This is a rise of 5% in a decade.  This is having a big impact on their health.  Children who are malnourished have oedema on their feet, scaly skin, higher than average respiration rates, lower weights, thinning hair and are lethargic.  Over 80% are also anaemic.  
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The reasons for the famine in the region are numerous but the key reasons are listed below:

i. Rains have failed for 4 years in a row so crops have failed.

ii. Food prices have risen a kilo of wheat has risen from 8 rupees to 12 rupees in a few months so families are stretched financially. Many exist on a $1 a day. (43 rupees)  Rice and lentils have risen by 20% and 18% respectively.

iii. The Government provide 30kg of subsidised food for the worst affected families in the region but corruption and inefficiency means that the help does not always get to those who need it.

iv. Wells are owned by the higher castes in the region and the higher castes will sometimes not allow the lower castes access to water so they cannot irrigate their land.

v. The village of Chitori Khurda has a nutrition and health service and they are supposed to provide 80g of food for undernourished children everyday.  However, the workers sometimes take the food and sell it, some refuse to serve children in lower castes and sometimes the workers do not even turn up to distribute food.

vi. In India output of food stuff is the same as it was in the 1970s despite a huge increase in population so now India imports food and this is more expensive.

Solutions to famine and malnutrition

SHORT TERM: The main short term solution is to provide food aid. This is usually done by NGOs such as Oxfam and Cafod.  Governments also provide food aid. Such as they have done in Madyha Pradesh. It is temporary in nature and is used with caution to prevent overdependence and to make sure local agriculture is not undermined.  There are however a number of issues with food aid.

	COST
	There is a cost incurred with delivering food aid and the administration.  The money raised from charity donations is used to pay some workers.  There are donors who question wages paid to charity workers even though the cost incurred are not very big.

	INFRASTRUCTURE
	A country receiving food aid will need port and airport facilities. Adequate roads are also needed to distribute food at a local level.

	DISASTER

FATIGUE
	Almost instant media coverage through 24 hour news and the internet means food disasters are well publicised.  Donors can feel a sense of helplessness and actually stop donating to charity.

	FOOD TYPE
	Food aid stuffs need to be non-perishable, easy to transport and reflect local taste.  A few years ago in the Ethiopian famine powdered milk was sent.  However, it is made with water and because access to clean water was limited it could not be used.

	MEETING NEEDS
	Aid workers have to sometimes decide who gets food and who does not. This is a big challenge and a moral dilemma.

	COORDINATION
	There needs to be links between the aid agencies and the Government to ensure food aid is distributed appropriately. This can be very difficult if a reason for hunger is civil unrest or war.


LONG TERM AID: Long term aid focuses more on helping an area struck by famine to develop their farming practices to make them more productive.  This can include aid for fertilizers, irrigation, HYV seeds, better transport and by cancelling debt to allow Governments to redirect investment into agriculture and rural areas.
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At the UN food summit in Rome in June 2008 plans were put forward to double food production by 2030.  The UN said £10 billion was needed to alleviate the food crisis caused by shortages and rising food prices.  The UN aims to have reduced the numbers of malnourished people from 800 million to 580 million by 2015 and to 400 million by 2030.  The UN also wants to give farmers $800 million to help improve production. 

What is obesity and what are the causes? 

Obesity is defined as someone having a BMI of over 30.  A BMI is calculated by a person’s weight in kg divided by the square of their height (kg/m2).  An ideal BMI would be between 18-25. People everywhere in the world are getting fatter and the World Health Organisation predicts there will 2.3 billion adults who are classified as overweight and 700 million of these will be obese. At present the figures are 1.6 billion and 400 million respectively.   

Obesity is a modern problem.  Data on obesity did not exist 50 years ago.
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THE TOP OBESE NATIONS 

1. Nauru 78%


2. Tonga 56%

3. Saudi Arabia 35.6%

4. UAE 33.7%

5. USA 32.2%

10. UK 24.2%
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The causes of obesity
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[image: image15.wmf]The cause of obesity and overweight is very simple.  It is an energy imbalance between calories consumed and calories expended.  There has been a global shift in foods that are energy dense so are high in fat and sugar yet low in vitamins and minerals.   Life styles have also become more sedentary.  Work tends to be more office based and transport is now dominated by the car rather than walking. People who eat more calories need to burn more calories, otherwise their calorie surplus is stored as fat. For example, if we eat 100 more food calories a day than we burn, we gain about 1 pound in a month. That’s about 10 pounds in a year. Over two decades this energy surplus causes a weight gain of 200 pounds!
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· 46% of men and 32% of women in the UK are overweight.

· 17% of men and 21% of women are obese. This has doubled since 1980.

· The proportion of overweight and obese people increases with age.    
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[image: image18.wmf]Obesity is more common in adults employed in manual occupations, particularly in women. A quarter of women working in unskilled manual occupations have a BMI of more than 30 kg/m2 compared to one in seven of those employed in a professional role. Both men and women working in unskilled manual occupations are over four times as likely as those in professional employment to be classified as morbidly obese.

MAP OF OBESITY HOT SPOTS IN THE UK

The effects of obesity on health

Obesity and overweight can cause serious health problems.  As BMI increases the risk become much higher.  It can put people at risk of chronic diseases.
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Childhood obesity has a higher chance of premature death and disability.  Life expectancy can be reduced by 14 years if a person is an obese smoker. One of the main changes globally is that some low and middle income countries are now having to deal with infectious diseases, under nutrition and now obesity. Obesity is particularly a problem in urban areas of low and middle income countries.  In China it is estimated that there are 70 million obese people.

Solutions to obesity

Overweight and obesity are preventable.  Measures can be taken by the individual, Governments, NGOs and private companies.

At an individual level people can reduce calorie intake and exercise more. 30 minutes of exercise on most days is recommended.  People need to reduce their energy intake from fat and switch from saturated fat to unsaturated fat.  Sugar intake should be limited. 

Governments have an important role to play in encouraging people to reduce their weight especially for poorer groups and children where access to good food can be limited.  

Recent initiatives by the Government include promotion of 5 a day to make people aware they should eat 5 portions of fruit and veg a day.  Food labeling has also improved with the backing of major supermarkets and food companies.  The recommendation is that an adult male should eat no more than 90g of fat a day and women 70g.

There has been a big drive to improve food in schools largely due the influence of Jamie Oliver.  Initiatives include breakfast clubs, healthy tuck shops and vending machines, improved dining room environments and healthier options served at meal times. The Government also launched The National School Measurement programme in 2006.  Children will be weighed and measured in reception and Y6.  This will provide the first set of data about the extent of overweight and obesity in children so resources and education can be targeted more effectively.  

Companies can take steps to help reducing obesity such as reducing the amount of sugar, fat and salt in processed food, reducing portion sizes and reviewing current marketing and advertising of junk food.

What are the contrasting approaches to healthcare? 

In 1989, Field devised a model to classify health service types. The groupings emphasise the role of the individual doctor, any medical organisations to which the doctor may belong, the ownership of facilities such as clinics and medical equipment, how the patient pays for the healthcare and the influence of the state. The level of economic development of the country is also an important factor.
Emergent
Main characteristics: 
· Health care is viewed as an item of personal consumption.

· Physician operates as a solo entrepreneur.

· Professional associations are powerful

· Private ownership of facilities.

· Direct payment to physicians

· State’s role in healthcare is minimal.
· Development of local heath workers.

Examples; Bangladesh, Brazil, India, Kenya, Pakistan, Sierra Leone, South Africa. 

In India, healthcare is highly diversified, with both Western and traditional practice operating side by side. Most hospitals are in cities, where patient: doctor ratios are 500:1. In rural areas, the ratio is 7,000:1. However, there are just 15,400 hospitals in India and 70% are privately run. India has 860 hospital beds per million people which is only 20% of the world average of 3960 beds. In addition to this two thirds of hospital beds are in urban areas. Many rural areas lack clinics and in several states e.g. Tamil Nadu, the state government has sponsored mobile clinics and local health workers who deal with a wide range of ailments, and give inoculations and advice on past hygiene. National government spending on health is low (<2% GDP), but there is help from the World Bank to increase it. India spends $30 billion each year on health care but 82% of this comes from fee charging private care. To improve health care in rural areas the government has launched National Rural Health Mission to help improve primary facilities, provide training for health care workers and provide equipment. To improve health care $25 billion is needed but the government will only provide 15% of this. The rest will come from private investment. 
Pluralistic
Main characteristics:

· Healthcare viewed as a consumer product.

· Physician operates as a solo entrepreneur

· Professional associations are powerful

· Private and public ownership of facilities.

· State’s role in healthcare is minimal and indirect.

Examples: USA
In the USA, the health system is provided by thousands of independent doctors, pharmacies, clinics and hospitals. The consumer pays for out-patient treatment, doctors’ fees, hospitalisation, surgery, equipment and appliances. Whilst most facilities are private and operate for profit, the government does spend 16% of its GDP on health care and this is the highest in the world.  The federal government recently established the following systems, but both of these provide only the basic care:

· Medicaid-to provide medical care for the poor.

· Medicare-to provide medical care for the poor elderly.

Most people have insurance cover to pay for treatment, although it is estimated that there are 44 million inhabitants without such insurance. 
Insurance/Social Security
Main characteristics:

· Healthcare is insured and guaranteed consumer product.

· Physicians operate as solo entrepreneurs and as members of professional associations, which are strong.

· Private and public ownerships of facilities.

· Payment for services mostly indirect.

· State’s role in healthcare is evident but indirect. 

Examples: France, Spain, Japan

WHO judged the healthcare system in France to be the most effective in the world. Japan and Spain who run the same system are also in the top ten. The French government spend 10% of its GDP on health care and there are 3 doctors per 1000 people. Others have been less complimentary ‘French patients can choose their doctors, see them as often as they like, consult specialists at will, even check themselves into a hospital….a hypochondriac’s paradise’ (Michael Moore’s film Sicko). It functions using the social security system backed up with by private insurance schemes. All people have the same access to health care. People pay into Secu via their income and this money goes into a completely separate government budget. People can also top it up with private health care insurance. The patient pays on the spot for treatment and is reimbursed later to varying degrees. 65% of beds are public, 20% are private for profit and 15% being private non profit. Costs are escalating in the French system due to an ageing population and a high number of drug prescriptions. 

National Health Service
Main characteristics: 

· Healthcare is a state supported service

· Physicians operate as solo entrepreneurs and as members of professional associations, which are strong.

· Facilities are mainly public owned.

· State’s role in healthcare is central and direct. 

Examples: Canada, UK

The NHS in the UK was founded in 1948 by Aneurin Bevin, who was determined to make good health a priority of all citizens. There have been profound changes in the NHS since 1948. Successive governments have found it difficult to manage, and costs have risen as people live longer and medical advances take place. 

It is publically funded from taxation including National Insurance (which is 10% of a person’s income). There are 1600 hospitals, 29,000 GP’s and 1.3 million NHS workers. The NHS budget for 2008/9 is £98.6 billion which is 8% of its GDP. Treatment is generally free but there are some charges for services such as dentistry, eye care and prescriptions. Private health is used by 8% of the population but is regarded as a top up to other services. At present the government is looking at ways to combine the two services. 

Socialised
Main characteristics:

· Healthcare is state-provided public service

· Physicians are state employed

· Professional associations are weak and non-existent.

· Facilities are wholly public owned.

· Payments for services are entirely direct.

· States role in healthcare is total. 

Examples: China, Cuba
All workers in Cuba are state employed and all health facilities are owned by the state. Private treatment, private hospitals and clinics are not allowed. Cuba’s health service is very effective-WHO ranks it at a level just below that of the USA despite spending ten times less per person. Cuba spends $251 per person compared to the USA which spends $2500. Cuba has the second highest life expectancy in the Caribbean (77 years against an average of 69 years), and for a population of 11 million it has over 30,000 family doctors and 10,000 dentists. It aims to improve medical assistance to reduce hospital bed demand for less serious cases. There are 21 medical schools providing free training, and many doctors are ‘exported’ to other countries. However, doctors are not well paid and could earn 50 times more as a taxi driver! Medical tourism is growing in Cuba and earns the country $40 million a year. 
Health care systems that suit the needs of poor communities

It is extremely difficult to provide western type health care systems and facilities in least developed countries of the world. In many countries this has been accepted and governments try to set up low cost services that provide all parts of the country with basic medical services. The millennium development goals (MDGs) recognised the most important needs of the developing countries. It is striking that three of them are primarily health-care gaols and several of the others are closely linked to health care.

The eight MDGs agreed at the United Nations Millennium Summit in September 2000 are listed below:

1. Eradicate extreme poverty and hunger.

2. Achieve universal primary education.

3. Promote gender equality and empower women.

4. Reduce child mortality.

5. Improve maternal health.

6. Combat HIV and AIDS, malaria and other diseases.

7. Ensure environmental sustainability

8. Develop a global partnership for development.

What are the issues of health in a globalising world-the rise of the pharmaceutical and tobacco TNC’s?
What are TNC’s?

A transnational corporation is one that operates in at least two countries.  Most have their headquarters and research and development in one country often in a developed country while production may be in a number of different countries.  They make globally recognisable products and are sell globally recognised brands. TNCs include some of the largest companies in the world.  Examples include Coca Cola, Ford, ICI, Nike, Sony and Glaxosmithkline.  They can have total sales larger than the GNP of a small country.  This makes some TNCs extremely powerful in the global economy.

How do TNC’s dominate global trade? 

1. The main advantage that TNCs have is their ‘economies of scale’.  This means that they can continually cut the cost of production by buying goods and services in bulk. As TNCs are large they can reduce costs and finance new investment more easily.  This allows them to be very competitive in the world market and consequently they can continue to expand.

2. TNCs have located overseas to avoid trade barriers and quotas that may be imposed by a host country.  This is one reason why Nissan and Honda have factories in the UK as it allows them to worked around the EU trade laws

3. TNCs can also reduce costs and increase profitability by taking advantage of low labour cost in developing countries.  There is also less unionised labour, cheaper raw materials, less strict environmental controls in developing countries.  Government incentives may be available may also be available in other countries.

4. As TNCs have grown large they have increased their bargaining power with their suppliers.  They demand competitive prices from their supplier, often other TNCs.  In fact 70% of all world trade is between TNCs. This makes it easier to plan production. (Eg Sony make car radios for Ford) Again this can help them reduce costs and increase profit.  This is important because they operate in the interest of their shareholders and investors. 

5. By operating on a global scale a TNC is able to the spread risk of investment.  If a particular country suffers economic decline production can be withdrawn or if an economy is in a boom cycle, production can be expanded.  

6. As global living standards continue to rise and countries continue to develop it provides a new market for global products.  A good example would be the rapidly emerging market of China.

7. Overall there are less trade barriers making it easier for TNCs to reach and access new markets.  The WORLD TRADE ORGANISATION (WTO) actively promotes free trade around the world.

8. Transport cost remain a low part of production costs so it is possible to manufacture anywhere in the world without incurring large costs.

What is the importance of pharmaceutical TNC’s in global health? 

The top 3 pharmaceutical companies globally are Pfizer ( sales of $45 083 million and HQ is in USA) , Glaxosmithkline ( sales of $37 034 million and HQ in UK) and Sanofi-Aventis (sales of $35 638 million and HQ in France).

The main role of pharmaceutical companies is to develop new drugs and market them and ultimately  make a profit for their shareholders.  All drugs have both a GENERIC name and a BRAND name.  The generic name is usually long and hard to remember such as azido deoxythymidine However, brand names such as Zidovudine (which is an ART for treatment of AIDS developed by GSK) that the pharmaceutical companies develop are much more recognisable and easy to recall.   This means a generic drug can have different brand names if it is supplied by a different company but it is the same medicine.  Branded drugs are often 3 to 30 times more expensive than generic drugs.  

Glaxosmithkline is a UK company based in Uxbridge, Middlesex.    It promotes itself as a research based company and has been at the forefront of research into HIV/AIDS, TB and malaria drugs.  GSK employs 100 000 people in over 100 countries and sell 4 billion packets of medicine annually.  GSK provides over ¼ of the world’s vaccines including those for hepatitis A and B, Tetanus and measles. At present it has 24 new vaccines in clinical trials.  GSK employs 1300 research scientists and claims to spend £300 000 per hour on finding new medicines.  It makes a number of recognisable brands including Ribena, Panadol, Tums, Zovirax and NiQuitin.

What are the issues surrounding pharmaceutical companies? 

The WHO produces a list of essential drugs and updates it every year as global health needs change.  The list is complicated as it includes the generic drug names and the WHO focuses on the use of generic drugs for the treatment of malaria, TB, diarrhoea and HIV/AIDS.  The list is unpopular in countries with a large presence of pharmaceutical TNCs and the WHO list is not implemented in the USA or EU.  This is because it is in conflict with the business aims of the TNCs namely to make profit. In fact the pharmaceutical industry took the USA government to court for encouraging the use of generic drugs and won the right to get this stopped. 

The pharmaceutical industry claims it needs to sell its branded drugs to make sufficient profit to carry on research into new drugs.  However, research by pharmaceutical companies tends to be biased towards the diseases of affluence such as cancer, heart disease and high blood pressure.  There is a focus on drugs that promote longevity and of the 1000s of new drugs that have been brought to market only 1% are for tropical diseases. Tropical diseases generally get much less money spent on research. Any new drugs that are developed are patented and then are viewed as intellectual property.  This means the generic form can not be made for 20 years.  This means some drugs on the WHO list are not yet available in their generic form even though they could be made much more cheaply. Some countries have broken these patent rights.  Brazil began to make its own HIV/AIDS drugs breaking the patent of the Swiss pharmaceutical company Roche.  Big pharmaceutical companies regard this a piracy and can take countries to court.

When a patient goes to see a doctor they will receive a prescription for a branded drug.  The patient has no choice over this because the name will be on the prescription.  This means that pharmaceutical companies target surgeries and by providing samples, giving free gifts away like pens, mouse mats and mugs with the brand names on and also send sales reps to see GPS to promote the brands.  

The WHO claim that pharmaceutical companies focus on the symptoms and not the cause of illness and disease.  For example focusing on drugs to cure diarrhoea when in fact money spent on providing clean water and hygiene education would be more appropriate.


On the other hand some may argue that criticising pharmaceutical companies is unfair because they cannot be expected to solve all the world’s health problems.  The governments of nations have to take responsibility for the root causes of poverty and ill health.

It is also alleged that pharmaceutical companies do not operate fairly in low income countries:

· They sell products that are withdrawn in the high income countries

· Sell products by misleading advertising

· Cause people to divert money away from essential such as food to pay for medicine

· Promote antibiotics for trivial illnesses

· Charge more in low income countries than in the West

· Do not provide instructions in local languages

· Try and influence national drug policies

· Give donations of drugs that may be near their sell by date as a tax write off.

· Use their home Government to support their operations by threatening to withdraw aid if the host government threatens their interest.


What is the role of tobacco TNC’s in global health? 

There are estimated to be 1.2 billion smokers worldwide and 2/3 of them live in low income countries.  There are 300 000 million smokers in China alone.  Use of tobacco is increasing in low and middle income countries especially as advertising and marketing is targeting such areas.

The 3 main tobacco TNCs are Philip Morris, RJ Reynolds and British American Tobacco (BAT).  Together they operate in 60 countries and earn more than $70 million annually.

It is estimated by the WHO that deaths from smoking related diseases will rise from 4 million annually to 10 million annually.  This number of deaths will exceed those from HIV, TB, road accidents, murder and suicide put together.   INGCAT, an organisation concerned with reducing tobacco use globally argue that the large TNCs target young people through advertising and marketing and encourage them to smoke. In India it is thought that 5 million under 15s are already addicted to smoking.  There are many additives in cigarettes and one recent additive is sweetners that make cigarettes more appealing to young people.  Tobacco TNCs are operating in developing countries to expand their market and to exploit cheaper labour in the production on cigarettes.  Developing countries like Brazil, Kenya and Vietnam are also where tobacco plants can be grown.  In some case agricultural land is being turned over to tobacco crops.    

BRITISH AMERICAN TOBACCO

Tobacco production:

BAT buy 460 000 tonnes of tobacco and 80% of this is from emerging economies.  They are supplied by 280 000 farmers and their website states that they try and encourage responsible agricultural production.  This means they support programmes to improve the soil, implement irrigation and reduce pesticide use.  They also work to eliminate child labour.  0.3% of the worlds land is devoted to tobacco and it grows well in poor soils and provides a stable income for farmers.  It only uses land for a 1/3 of the year.

Marketing:

The aim of BAT is not to increase the number of smokers but to increase the number of people using their brand.  A billion people smoke and BAT have 17% of the global cigarette market.  Their brands include Kent, Dunhill and Benson and Hedges.  In 2000 they sold 85 billion cigarettes and by 2007 this had increased to 161 billion. Their website states that they do not market to underage children.  All packets carry health warnings whether or not it is law in the country they are sold in.

R&D:

This is based in the UK in Southampton and Cambridge.  The centre in Southampton focuses on understanding cigarette smoke and aims to develop lower level of toxins in cigarettes.  They do test on animals where there is no alternative.
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Aventis used to make the only safe drug to treat the late stages of sleeping sickness.  However, in 1995 they stopped making it because they could not make any profit.  However, in 2000 the same drug reappeared but was used as an ingredient in hair removing cream under license from Aventis. 














In Honduras a doctor prescribed a child with HIV a brand drug from Pfizer at a cost of $27 for one tablet.  His father only earned $19 a week.  Yet a generic version of that drug was available for just 30 cents.  However, there is no license to make or sell this generic drug in Honduras.
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Founded-1912


HQ-UK and USA


Worldwide-47 factories in 40 countries.    Sold in 180 countries


Employees- 53 000 plus the indirectly empoyed farmers 


Gross turnover- 2007-26 234 000 000


Profit- 2007-2 278 000 000


Brands- Over 300 including Dunhill, Benson & Hedges, Rothmans


Tobacco-80% of tobacco BAT use comes from emerging countries


Research and development- Based in Southampton and Cambridge focused on developing less harmful products




















